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   ) ���3(  كيمياءكيمياءكيمياءكيمياء                                        

  
   .C12H22O11آ#$#�,+ *#()' ا&%$� #"    ا ��آ�روز ��ع        

 =ذي ت=آ#> م� +         VS = 200 mLآ�روز ;+ ا $�ء  -�96ل 8-7 م6-�ل ا ��آ�روز 34$' م1 ا �� 0�mی. آ)-" )         1

0,1 moℓ.L-1              C1 .  
1-1  0.50 ( B%n(C12H22O11)  روز ا $�%�دة ;+ ا $6-�ل�  .آ$#" م�دة ا ��آ
2-1  0.75 (  E(F(اسm روز�  . ا $0اH" آ)-" ا ��آ

2         ( �0IJ 4 �$3V1 = 10 mL '# إ L#Mو� NH�� L#OP(  Q ا $6-�لmL 90 م1 ا $6-�ل ا �P ء ا�                                                         . م1 ا $
                              .ا Tزم" &�3�ز 8$-#" ا )L#OPا >%�%#" ا%=د اSدوات ) 1.00  1-2
   . B3یB  -$6-�ل اB4C2د ا )=آ#> ) 0.75  2-2

 +UV�          :M(O) = 16 g.moℓ-1  وM(C) = 12 g.moℓ-1 وM(H) = 1 g.moℓ-1  .  
  
  

                       ) ���53,(  1فيزياء فيزياء فيزياء فيزياء           
                  

 �#,�H=Xآ T-6م =Y(V�         )ξ ( دة�M$ م6=آ" ا=X[ ت' ا�\E’ و   "#-IاB وم)' ا�                                  r’،                                         (V) Uم[
 .                                                              م$a-" ;+ ا `]_ %��U = f(I)   'Y         م$#>ت'

�، \#$" آّ_ م1 ) 0.75  1#��#Y1 مc#8E’ و  r’  +,�H=X[ 6-_ ا$- )ξ(           .                                                      8 
2          ( +,�H=X[ ا $6-_ ا d(�=آ. 8-7 ا )�ا +، مξ( �#,�H=X8$�دا آ ،)G ('ت�\                                              

    D(                                                  4(م�*T أوم#�  وr= 2 Ωم[�وم)' ا BاI-#"   وE= 12 Vا ]X=م6=آ"          
   . R= 8 Ωم[�وم)'         

1-2  0.75 (.U] ت ا�#,�Fل رم�ز ث�$V(س�H .#ا )=آ "��#Yت gارس                   .             I(A)                     0,1     0              
2-2  0.50 (����ن �Hی+، 1c#H أن شBة ا )#\ N#YU(H +ارة هB ر ;+ ا�                                                                                                                .        A I 0,3 =ر ا $

  . )D(و) ξ(و) G( ا $�%�دة 8-7 ا )�ا + H#1 م=UR +UH وUξ وUGا )�ت=ات م1 ا4�. \#$" آ_ ) 3-2  1.50
  

                                  
            ) ���53,(  2فيزياء فيزياء فيزياء فيزياء          

                        
�م_  (T)         ;+ ا )=آ#. %���  'Y�V($_ ت=ا�>س)�را Vا  ' م g#PM( 1آ�  UR      R                    ا �

�ر          #(-β = 100  +UP م ا�qF و ی`)(_ ;+ ا r#4 UBE = 0,7 V.                                     
        +UV�   :  R =100 Ω   r8�Y ر ا� IE = 30 mA.                        IE               IC   Cو شBة ت#

                                                                                                                                     (T)             RB 

                                          UCE             .       E = 6 V، ثg اس)E(F ا )�ت= UR \#$" ا )�ت= ا4�.) 1,00  1
2  1,25 ( 1c#H ة ه+ أنB8�  IB = 0,297 mA،                  r = 0           UCE                    IB     B\#$" شBة ت#�ر ا [
         E(F(اس gث  d$3$ ر ا�              IC.                                                                                           UBEشBة ت#

              B%RB  .                                                                                 E \#$" ا $[�وم"  )1,25  3
                                                                                                                                IE   

                                                                                     


